

Name of Student: Okuntade Datimide George  
 Department: Aeronautical Engineering  
 Matric No: 19/EN 609/018

Question:

1. If the derivative of the following using the first principle

$$1) y = \sin\left(\frac{3}{x^2}\right)$$

$$2) y = 4/x^3$$

Solution

$$1) y + \Delta y = \sin\theta \quad y = \sin\left(\frac{3}{x^2}\right) \quad \text{or } y = \sin 3x^{-2}$$

$$y + \Delta y = \sin 3(x + \Delta x)^{-2}$$

$$\Delta y = \sin 3(x + \Delta x)^{-2} - y$$

$$\Delta y = \sin 3(x + \Delta x)^{-2} - \sin 3x^{-2}$$

$$\Delta y = \sin\left(\frac{3}{(x + \Delta x)^2}\right) - \sin 3x^{-2} \quad \dots (1)$$

Recall  $\sin A - \sin B = 2 \cos\left(\frac{A+B}{2}\right) \sin\frac{A-B}{2} \quad \dots (11)$

Comparing Equation (1) & (11)

$$\Delta y = A = \frac{3}{(x + \Delta x)^2} \quad \text{and } B = 3x^{-2}$$

$$\frac{A+B}{2} = \left[ \frac{\frac{3}{(x + \Delta x)^2} + \frac{3}{x^2}}{2} \right] \quad \sin\left(\frac{3}{(x + \Delta x)^2}\right) \quad \frac{A-B}{2} = \frac{\frac{3}{(x + \Delta x)^2} - \frac{3}{x^2}}{2}$$

$$\Delta y = 2 \cos\left[ \frac{\frac{3}{(x + \Delta x)^2} + \frac{3}{x^2}}{2} \right] \sin\left(\frac{\frac{3}{(x + \Delta x)^2} - \frac{3}{x^2}}{2}\right)$$

$$= 2 \cos\left(\frac{3x^2 + 3(x + \Delta x)^2}{x^2(x + \Delta x)^2}\right) \cdot \sin\left(\frac{3x^2 - 3(x + \Delta x)^2}{x^2(x + \Delta x)^2}\right)$$

$$= 2 \cos\left(\frac{6x^2 + 6\Delta x + 3\Delta x^2}{x^2(x + \Delta x)^2}\right) \sin\left(\frac{-6\Delta x - 3\Delta x^2}{x^2(x + \Delta x)^2}\right)$$

divide through by  $\Delta x$

$$\frac{\Delta y}{\Delta x} = 2 \cos\left(\frac{6x + 6\Delta x + 3\Delta x^2}{x^2(x+\Delta x)^2}\right) \cdot \sin\left(\frac{-6\Delta x - 3\Delta x^2}{x^2(x+\Delta x)^2}\right)$$

multiply the Numerator and Denominator by  $\frac{1}{2}$

$$\frac{\Delta y}{\Delta x} = \frac{1}{2} \times \cos\left(\frac{6x}{x^2(x+\Delta x)^2}\right) \times \frac{1}{2} \frac{6\Delta x}{x^2(x+\Delta x)^2} + \frac{1}{2} \frac{3\Delta x^2}{x^2(x+\Delta x)^2}$$

$$\frac{\sin\left(\frac{-3\Delta x}{x^2(x+\Delta x)^2} - \frac{3\Delta x^2}{2x^2(x+\Delta x)^2}\right)}{\frac{\Delta x}{2}}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \cos\left(\frac{3x^2}{x^2(0+0)^2} + 0 + 0\right), \lim_{\Delta x \rightarrow 0} \sin(0,0) \times \frac{0}{2}$$

$$\frac{dy}{dx} = \cos\left(\frac{3x^2}{x^2 \cdot 0^2}\right) = \frac{\cos 3}{x^2}$$

b)  $y = 4/x^2$

Solution

$$y = 4/x^2 \Rightarrow y = 4x^{-3}$$

$$\Delta y + \Delta y = 4(x + \Delta x)^{-3}$$

$$\Delta y = 4(x + \Delta x)^{-3} - y$$

$$\Delta y = 4(x + \Delta x)^{-3} - 4x^{-3}$$

$$\Delta y = \frac{4}{(x + \Delta x)^3} - \frac{4}{x^3}$$

$$\Delta y = 4$$

$$\frac{4(3x^2 \Delta x + 3x \Delta x^2 + \Delta x^3 + \Delta x^3)}{x^3} = \frac{4}{x^3}$$

$$\Delta y = \frac{4(3x^2 \Delta x + 3x \Delta x^2 + \Delta x^3 + \Delta x^3)}{x^3(3x^2 \Delta x + 3x \Delta x^2 + \Delta x^3 + \Delta x^3)}$$

$$\Delta y = \frac{4x^4 - 12x^3 \Delta x - 12x^2 \Delta x^2 - 4x \Delta x^3 - 4\Delta x^4}{x^3(3x^2 \Delta x + 3x \Delta x^2 + \Delta x^3 + x^3)}$$

$$\Delta y = \frac{-12x^2 \Delta x - 12x \Delta x^2 - 4\Delta x^3}{x^3(3x^2 \Delta x + 3x \Delta x^2 + \Delta x^3 + x^3)}$$

$$\Delta y = \text{let } -t = 3x^2 \Delta x + 3x \Delta x^2 + \Delta x^3 + x^3$$

$$\therefore \Delta y = \frac{-12x^2 dx}{x^3 t} - \frac{12x \Delta x^2}{x^3 t} - \frac{4 \Delta x^3}{x^3 t}$$

$$\frac{\Delta y}{\Delta x} = \frac{-12 dx}{x^3 t} - \frac{12 \Delta x^2}{x^2 t} - \frac{4 \Delta x^3}{x^3 t}$$

Multiply both sides by  $\frac{1}{\Delta x}$

$$\frac{\Delta y}{\Delta x} = \frac{-12 \cancel{\Delta x}}{x^3 t} \times \frac{1}{\cancel{\Delta x}} - \frac{12 \cancel{\Delta x}^2}{x^2 t} \times \frac{1}{\cancel{\Delta x}} - \frac{4 \cancel{\Delta x}^3}{x^3 t} \times \frac{1}{\cancel{\Delta x}}$$

$$\frac{\Delta y}{\Delta x} = \frac{-12}{x^3(3x^2 \Delta x + 3x \Delta x^2 + \Delta x^3 + x^3)} - \frac{12 \Delta x}{x^2(3x^2 \Delta x + 3x \Delta x^2 + \Delta x^3 + x^3)}$$

$$- \frac{4 \Delta x^2}{x^3(3x^2 \Delta x + 3x \Delta x^2 + \Delta x^3 + x^3)}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \frac{-12}{x(0+0+0+x^3)} \quad -0-0$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \frac{-12}{x^4} = -12x^{-4}$$

$$\therefore \frac{dy}{dx} = -12x^{-4}$$